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importre # ERRIPED1—ILEHEAAD defread csv(fname):
print("")
# with open(fname) as f:
# parameters fin = csv.reader(f)
infile = '"TransferCurve.csv' labels = next(fin)
xlabel = labels[0]
dg =100e-9 #m
erg=11.9 # labeldTAY EXF DiGHE. T—2ELTIEHE:
ylabels =[]
W =300.0e-6 #m for 1 in range(1, len(labels)):
L =50.0e-6 if labels[i] ==":
break
#1ds™(1/2)-VgsTAvrET B Vds ylabels.append(labels[i])
Vds0=10.0 ny = len(ylabels)
# RETEXENEENTNEIXFINA DL, x =[]
#FENRICEBTELRADXFINETIVHL. ylist =[]
#IiIFEV N RICEBRLTGRY for i in range(ny):
def pfloat(str, defval = None): ylist.append([])
# XFHMS, FEVNRICEZSXFEANERRL TLSER D ZE L)Y
Hg for row in fin:
m = re.search(r'([+¥-eE¥d¥.]+)', str) x.append(pfloat(row[0]))
# —BLI-XFIEE for i in range(1, ny+1):
valstr = m.group() v = pfloat(row([i])
try: if v is not None:
return float(valstr) ylist[i-1].append(v)
except: else:
return defval ylist[i-1].append(None)

return xlabel, ylabels, x, ylist

FIAFEIZLN



TFTiv.py

def main():
Cox =erg * e0/dg #(F/m"2)
print("")
print("Cox = {:12.6g} [F/m"2]".format(Cox))

xlabel, ylabels, Vgs, IdsVgs = read csv(infile)

nVgs = len(IdsVgs[0])

nVds = len(ylabels)

Vds =[]

for 1 in range(nVds):
Vds.append(pfloat(ylabels[i]))

print("")

print("nVds=", nVds)

print("nVgs=", nVgs)

print("xlabel : ", xlabel)

print("ylabels: ", ylabels)

print("Vds: ", Vds)

# H A 1ds - Vds 2T AV 510D T —2% 1S
IdsVds = np.empty([nVgs, nVds])
for ig in range(nVgs):
for id in range(nVds):
IdsVds[ig][id] = IdsVgs[id][ig]

# sqrt(Ids) - VesTAYRET S VdsO DT—RE S iVds Z1F T
# Vds[i] DVNSWAMBIEIZ, VdsO <= Vds[i] E%D i Z1FET D,

704554 5

# sqrt(Ids) T—2%1ES

print("")

print("Vds used: {} V (iVds = {})".format(Vds[iVds], iVds))

sqrtlds =[]

for ig in range(nVgs):
sqrtlds.append(sqrt(IdsVgs[iVds][ig]))

#BRIN"REDT—H

xfit =[]
yfit={]
for 1 in range(nVgs):
if xfitmin <= Vgs[i] <= xfitmax:
xfit.append(Vgs[i])
yfit.append(sqrtlds[i])
print("")
print("Least squares fitting:")
print("Vgs range: {} - {} V".format(xfitmin, xfitmax))
print("Vgs=", xfit)
print("Igs™(1/2)=", yfit)
ai = np.polyfit(xfit, yfit, 1)

#y=ai[l] +ai[0]x

Vth = -ai[l]/ ai[0]

grad = ai[0]

mu = grad * grad / (W * Cox /2.0/L)

print("Vth = {:6.4g} V".format(Vth))
print("dIgs*1/2/dVgs = {:12.4g} A"~(1/2)/V".format(grad))

#IFERNINEERENHDSIEEEEL, VdsO - 1.0e-3 <= Vds[i] £95  print("mu_sat = {} m"2/Vs = {} cm"2/Vs".format(mu, 1.0e4 * mu))

for 1 in range(nVds):
if Vds0 - 1.0e-3 <= Vdsi]:
iVds =1
break
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# BIN_"ROTEREHERE T SER
#2174 BEAIYELTOVMNS

xcal =]

yeal =[]

xx = xfitmin - 0.5

xcal.append(xx)

ycal.append(ai[1] + ai[0] * xx)

xX = max(Vgs)

xcal.append(xx)

ycal.append(ai[1] + ai[0] * xx)

#IESMS 1ds-Vgs DT 57
for id in range(nVds):
ax1.plot(Vgs, IdsVgs[id], linewidth = 0.5, marker ="'0',
markersize = 0.5,
label ='Vds={} V'.format(Vds[id]))
for id in range(nVds):
ax1.plot(Vgs, IdsVgs[id], linewidth = 0.5, marker ="'0',
markersize = 0.5,
label ='Vds={} V'.format(Vds[id]))
axl.set xlabel('Vgs (V)"
axl.set ylabel("Ids (A)")
axl.set yscale('log")
# MBIDT o h—%ELEICTETE

ax1.legend(loc = 'upper left', fontsize = legend fontsize)

704554 5

# A 1ds-Vds DT 57
#20RD Vegs ZRU, £DI5. MY TIASHARZADT —FDAHRTY
%)
nskip = int(nVgs / 20.0 + 1.0e-6)
for ig in range(0, nVgs, nskip):
# #3227 0vb TRABWDIFEEAsHA/NENT —RIERRLELY
if max(IdsVds[ig]) < 1.0e-7:
continue
ax2.plot(Vds, IdsVds[ig], linewidth = 0.5, marker = '0', markersize
=0.5,
label ='Vgs={} V'.format(Vgs[ig]))
ax2.set xlabel('Vds (V)"
ax2.set_ylabel("Ids (A)")
ax2.legend(loc = 'upper left', fontsize = legend_fontsize)

#1ds™N(1/2) - Vgs 757

ax3.plot(Vgs, sqrtlds, linestyle = 'none', marker = '0', markersize =
0.5)

ax3.plot(xcal, ycal, linestyle ="', linewidth = 0.5)

ax3.set xlabel('Vgs (V)"

ax3.set_ylabel("Ids$"{1/2}$ (A$"{1/2}$)")

plt.tight _layout()

plt.pause(0.1)
print("Press ENTER to exit>>", end =")

input()
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